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Calculate the area of these parallelograms
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Calculate the missing base or height of these parallelograms.
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2) Calculate the area of each parallelogram.
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3) Calculate the missing measurements for these

parallelograms.
a)
area = 72cm?
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area = 91cm?
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1) Iam thinking of a parallelogram with
side lengths that are whole numbers.

It has an area of
84cm?

Its height measures
between 10cm and
30cm.

between 2cm and 10cm
Its base measures
between 2cm and
10cm.

Give the dimensions of all the possible
parallelograms I could be thinking of-




